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Review:

An acute angle is _hehoeen O *& 90°

The function value of an angle is equal to the

30° cofunchao N value of the complement
2 a5 of that angle.
60°
| ,
1 sin 45° = /JZ sec 60° = Z
45"
cos 30° = \IE csc45° = @
g 2
tan45° = ] cot30° = \g ﬁ
45°
1

5.2 #21 the sand dune problem:

h
x+

tan 350 :S tan 20c =

¥@an 35 =h g betitution yields:

h h
X =—
tan 350 tan 200 = 7

i

When confronted by an equation involving fractions, it is always nice to get rid

of the fractions by multiplying both sides by the least common denominator.
h h
(,—-l- )'taIlZOo): (\b\-l- )
tan 350 h +agqo \tan 350
tan "35o—

Distribution yields: hw +300tan 200 =h
tan 350
When more than one instance of your To get h by itself, factor and then divide.
variable appears, try to get all instances tan 200
of the variable on one side and tan 200" = h (1 T on %S )
everything else on the other side.
‘0btan 200"
h tan 200 ==~ pnge’
tan20c =h———— h tan 200 606 ft
tan 350 1 ——= 5
tan 35¢
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Reciprocal Identities

1 . 1 1
CSsCx = — , siInx = —— , secx = ,C0sx = — ,cotx = , tanx =
sinx CsCXx CosXx secx tanx cotx
Cofunction Identities:
sin(90°— @) = cosf® , cos(90°—@) =sinb
tan(90° — 8) =cotd , cot(90°—0) =tané
csc(90° —0) =secd , sec(90°—0) = csch

Ratio Identities:

s (SLY _

Example Problem 5.1#98

Given that

sin8° = 0.1392 csc8° = 7.1853
cos 8° =~ 0.9903 sec8° = 1.0098
tan8° = 0.1405 cot8° = 7.1154

find the six function vales of 82°.

%2° & 8" are complements
cos®2° = sin §° = 1392
Sec 82"'C'sc_8° -2 1597
QL8 - 0.140S
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Write in terms of sin 40° and/or cos 40°.

' (

40° = ——— 50° = ° .
= sindo° = secto (os40°
cot40° = CosF4O° tan50° = 21050 - COs40"
Sin%0° 350 sin 1—0‘

c0s50° = sjn TO° sec50° = ,

60350 Si n‘tO

How many different ways can you rewrite the expression using ratio,
reciprocal, and/or cofunction identities?

sin 32° = cos("\o" 32‘) = C0558°}

sc_52 ec 5% )

tan13° = co‘t?q- = Sl(\l’b ,—— QOS??:
cosld®  otl?’  sSn37

( _ Sinl3° Co_f;’»}’-} "'Ta 5((,|3|
tadt Sin37° 0513 T "
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5.3 Trigonometric Functions of Any Angle

An angle in standard position has its vertex at the origin and initial side on the
positive x-axis, and is measured counter-clockwise.

positive angle negative angle

The coordinate plane is divided into four quadrants.

a quadrantal angle.
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Two angles sharing a terminal side are called coterminal and differ by integer
multiples of 360e.

aran

e
P
-

NG

k7400

Find two positive and two negative angles that are coterminal with 89e.

B +360 =
87-360"<

For an angle in standard position, the reference angle is the acute angle
between the terminal side of the angle and the X-axis.

reference +nma IQ

He J/{
& S -

—
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Students All

only sine (and its reciprocal) | all functions are positive

Take Calculus

only cosine (and its reciprocal)

only tan (and its reciprocal)

i N

Tells us which functions are positive in which quadrants.
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53 #3(0

Homework:

5.1 #83-97 odd



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

